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QUESTION 1

If a NFS client attempts and fails to access a file opened by a CIFS application, which command would you use to view
the connection?

A. cifs audit

B. cifs sessions
C. cifs shares
D. cifs lookup

Correct Answer: B

QUESTION 2

Which two will allow you to read and analyze a packet trace file generated by the storage appliance? (Choose 2)
A. pktt

B. Netmon

C. Eternal View

D. Ethereal

Correct Answer: BD

QUESTION 3

Physical Reallocation of a SnapMirror source volume increases the amount of data to transfer for the next SnapMirror
update.

A. True
B. False

Correct Answer: A

QUESTION 4

If you cannot access a LUN that has been created and mapped to an initiator from a Solaris host, which are two
possible problems? (Choose 2.)

A. The storage appliance is not in the /etc/hosts file.

B. The LUN ID is not in the /etc/sd.conf file.
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C. The devfsadm command has not been executed.
D. The LUN ID is not in the /kernel/drv/sd.conf file.

Correct Answer: CD

QUESTION 5

What is the outcome of this command?

lun create -b /vol/vol2/.snapshot/testsnap/lun0 /vol/vol2/lun0.clone
A. It creates a duplicate of the clone process of lun0.

B. It creates a clone of the writeable snapshot of lun0.

C. It creates a writeable snapshot of lunO.

D. It creates a snapshot "testsnap” of vol2.

Correct Answer: C
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